Page 1 of 4

Tabulation of Bids

Contract ID: 030007.02 Counties: SOUTHERN REGION 1 Maine Department of Transportation

Letting Date: February 19, 2025 District(s): SOUTHERN REGION A True Copy:______

Call Order: 4 Project(s):

Contract Time: 12/31/27 COMPLETION DATE

Contract Description: REGION 1 TRACK EXCAVATORS 2025 - 2027

Attest: _______
Notary Public

Oontrac	t bescription: NEO	ION I IIVA		/ATURS 2025 - 2021				Notary Public	
Line No / Item ID Item Description				(1) UNITED RENTALS AKA UNITED RENTALS NORTH AMERICA INC.		(2) ALTA EQUIPMENT COMPANY		(3) EAGLE RENTAL	
Alt Set / Al	t Member	Quantity a	nd Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 REGION	1 TRACK EXC	AVATORS	Cat Alt Set:	Cat Alt Member:	LCC:			
0010 63	31.60	15.750	15.750	3,850.00000	60,637.50	4,200.00000	66,150.00	4,200.00000	66,150.00
	RENTAL (BY MONTH) AVATOR #1-1, 25,000 -	CM	СМ						
0020 63	31.60	15.750	15.750	3,850.00000	60,637.50	4,200.00000	66,150.00	4,200.00000	66,150.00
	RENTAL (BY MONTH) AVATOR #1-2, 25,000 -	CM	СМ						
0030 81	15.281	15,000.000 5	,000.000	1.00000	15,000.00	1.00000	15,000.00	1.00000	15,000.00
ALLOWANCE & MATERIALS	E - ALLOWABLE PARTS S	DOL	DOL						
0040 91	10.30	6.000	6.000	500.00000	3,000.00	0.00000	0.00	270.00000	1,620.00
	TATION - REGION 1 Y CONTRACTOR (PER	EA	EA						
0050 91	10.30	6.000	6.000	500.00000	3,000.00	0.00000	0.00	270.00000	1,620.00
	TATION - REGION 1 CONTRACTOR (PER	EA	EA						
;	Section Totals:			•	\$142,275.00		\$147,300.00		\$150,540.00
Lif	fe Cycle Costs:								
Section 7	Total with LCC:				\$142,275.00		\$147,300.00		\$150,540.00
Contract Item Totals				\$142,275.00		\$147,300.00		\$150,540.00	
Contract Time Totals									
Contract Life Cycle Costs Totals				\$0.00		\$0.00		\$0.00	
Contract Grand Totals				\$142,275.00		\$147,300.00		150,540.00	

Maine Department of Transportation

Tabulation of Bids

Page 2 of 4

Contract ID: 030007.02 Counties: SOUTHERN REGION 1

Letting Date: February 19, 2025 District(s): SOUTHERN REGION

Call Order: 4 Project(s):

Contract Time: 12/31/27 COMPLETION DATE

Contract Description: REGION 1 TRACK EXCAVATORS 2025 - 2027

() indicates item is bid as Lump Sum

Maine Department of Transportation					
A True Copy:					
itle :					
Attest:					
Notary Public					

2/21/2025

\$0.00

\$172,350.00

Tabulation of Bids Page 3 of 4

Contract ID: 030007.02 Counties: SOUTHERN REGION 1 Maine Department of Transportation

Letting Date: February 19, 2025 District(s): SOUTHERN REGION A True Copy:______

Contract Time: 12/31/27 COMPLETION DATE

Contract Life Cycle Costs Totals

Contract Grand Totals

Line No / Item ID (5) MILTON CAT (4) CHADWICK BAROSS **Item Description** Alt Set / Alt Member **Unit Price Quantity and Units Unit Price Ext Amount Ext Amount Unit Price Ext Amount** SECTION: Cat Alt Set: Cat Alt Member: LCC: 1 **REGION 1 TRACK EXCAVATORS** 0010 631.60 15.750 4,900.00000 77,175.00 15.750 4,500.00000 70,875.00 **EQUIPMENT RENTAL (BY MONTH)** CM CM TRACK EXCAVATOR #1-1, 25,000 -36,000, R1 0020 631.60 15.750 4,900.00000 77,175.00 15.750 4,500.00000 70,875.00 CM **EQUIPMENT RENTAL (BY MONTH)** CM TRACK EXCAVATOR #1-2, 25,000 -36,000, R1 0030 1.00000 15,000.00 815.281 15,000.000 5,000.000 1.00000 15.000.00 ALLOWANCE - ALLOWABLE PARTS DOL DOL & MATERIALS 0040 910.30 6.000 250.00000 1,500.00 1,000.00000 6,000.00 6.000 SPECIAL WORK EΑ EΑ **TRANSPORTATION - REGION 1** DELIVERY BY CONTRACTOR (PER UNIT PER YR) 0050 910.30 6.000 1.000.00000 6.000.00 250.00000 1,500.00 6.000 SPECIAL WORK EΑ EΑ **TRANSPORTATION - REGION 1** PICKUP BY CONTRACTOR (PER UNIT PER YR) **Section Totals:** \$168,750.00 \$172,350.00 **Life Cycle Costs:** Section Total with LCC: \$172,350.00 \$168,750.00 \$168,750.00 \$172,350.00 **Contract Item Totals Contract Time Totals**

\$0.00

\$168,750.00

Maine Department of Transportation

Tabulation of Bids

() indicates item is bid as Lump Sum

Page 4 of 4

2/21/2025

Maine Department of Transportation Contract ID: **SOUTHERN REGION 1** 030007.02 Counties: A True Copy:_____ **Letting Date:** February 19, 2025 District(s): SOUTHERN REGION Call Order: Project(s): Title : _____ **Contract Time:** 12/31/27 COMPLETION DATE Attest: ______
Notary Public Contract Description: REGION 1 TRACK EXCAVATORS 2025 - 2027

Page 1 of 1

Vendor Ranking

Call Order: 4 Contract ID: 030007.02 Counties: SOUTHERN REGION

1

Letting Date: February 19, 2025 11:00 District(s): SOUTHERN REGION

Contract Time: 12/31/27 COMPLETION Min: Max:

DATE

Contract Description: REGION 1 TRACK EXCAVATORS 2025 - 2027

Project(s):

Rank		Vendor ID/Name	Total Bid	Percent Of Low Bid
1	001549	UNITED RENTALS AKA UNITED RENTAL AMERICA INC.	S NORTH \$142,275.00	100.00%
2	003671	ALTA EQUIPMENT COMPANY	\$147,300.00	103.53%
3	004059	EAGLE RENTAL	\$150,540.00	105.81%
4	002386	CHADWICK BAROSS	\$168,750.00	118.61%
5	004199	MILTON CAT	\$172,350.00	121.14%